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B DOATRE) - XIHBHE) - FlEBH)
1. BBOETBE)
A(x, y) & xEFEIC p, yEIFANCgBEILIZNAE B(X,Y)ET 5L,
(X, Y)=(x+p, y+q) £V, (x, y)=(X-p, Y -¢q)
ANy =f(x) EOSOEE
(, y)=(X-p, Y-q) £V, "HBIELY-q=f(X-p) &7,
TROLEABIEy=f(x-p)+tq LD THD,
AW f(x, y)=0 EOEDOEE
(, y)=(X-p, Y-q) £V, "BIEf(X-p, Y -q)=0%Ni7=7,
FThRbLABIEf(x-p, y-q)=0 EORTH 5,
2. BB OXHBH
2-1. BA¥o, xENCEALTO, WHBE
MA(, y) xS L CRFBE LS a B(X,Y)ET 5 L,
(X Y)=(x, =) &V, (xy)=(x,-Y)
ANy =f(x) EOSOEE
(v, y)=(x, -7) &V, HABIE-Y=r(X)%&ii=7,
TROLEABIEy=—f(x) FORTH S,
AW f(x, y)=0 EOEOEE
(v, y)=(x, -7) &b, HABIEf(X, -7)=0%T=T,
TROLEABILf(x, -y)=0 EORTH D,
2-2. BA¥o, yENZEALTO, xIHBE)
MA(x, y) E xEZB L TR E Lo E B(X, Y) & T D L&,
(X Y)=(Cx ») &Y, (o y)=(X.7)
ANy =f(x) EOEOEE
(v, y)=(- X, 7) &V, HBIEY=f(-X) %=,
TRbLEABIEy=f(-x) EOSATH D,
AW f(x, y)=0 EOEDOEE
(v, y)=(-X,7) &V, SABIEf(-X,7)=0%7=T,
TROLABIEf(-x, y)=0 EORTH D,
2-3. B¥o, yENZEALTO, xXIHBE)
MA(x, y) 2 xEZB L THREE Lo E B(X, Y) & T 5 L&,
(X Y)=(x -y) &Y, (v y)=(-%.-Y)
ANy =f(x) EOEOEE
(v, y)=(-X,-7) £V, SmBIEZ-v=/r(-X)&0HT,
TROLEABIEy=—f(-x) EOHATH D,
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AN f(x, y)=0 EOEOEE
(x, )=(-X,-Y) XY, ABIXf(-X,-Y)=0%&%=7,
TROLABIEf(-x, —y)=0 LFORTH D,

2-4. BA¥D, y=xIZTEALTOD, xIHBH

BAQ, y) & y=xZBE L THHBE LI-8x B(X, V)T 5L,

(X, Y)=(, x) X9, (v, »)=(, X)

ANy =f(x) EOEOEE
(x, y)=(r, X) &V, mBITX=/s()&W=T,
TRbLABIEx=f(y) EFORTH S,

AW f(x, y)=0 EOEDOEE
(v, y)=(Y, X) &V, mBIEZf(Y, X)=0%77=7,
TRbLABIEf(y, x)=0 EORTH S,
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3. EROEEBE)
A ) BERO ZHRLE LTAIETEE LM% B(X, ¥) 5L,

Alx, y)IEB(X, Y) 2R AE L E LTHA -0 12T EIER L 7287205,
(X, Y)=(rcosa, rsina) (r=0B=vX*>+Y?>) &35&,

(x, y) = (r cos(a - 6), r sin(a - 0))
= (rcosacosH +rsinasin @, rsin a cos@ — r cos a sin 6)

(X cos@ + Y sin 6, —XsinH+YcosH)

ANy =f(x) EOEOEE

(x, y)=(Xcos@+Ysinh, - Xsin@+Ycosd) £V,

S BIX- Xsin@+Ycosd=f(XcosO+7Ysin@) & 7=7,

T2 LA B I - xsin@+ ycos@ = f(xcosd + ysinf) LDHTH 5,
AW f(x, y)=0 EOEDOEE

(x, y)=(Xcos@+Ysinh, - Xsin@+Ycosd) £V,

M B 6;’Cf(Xcos¢9+Ysin6’, —Xsin6+Y0056)=0 7=,

T2 BABIL f(xcos@ + ysind, —xsin@ + ycosd)=0 EDHTH D,

I Al(rcos(ar — 8), rsin(a - 0))

=




